[ Efficiency vs vertpos |

—_
+—

=
[
>
[%]

0.5
0.09

2.0.08
(8]

c
Q@
3]

£
[}

Ratio

Efficiend

N

0.07
0.06
0.05]
0.04
0.03
0.02
0.01

1Q

=
HI

_*-+ | +#+++#+#Jf++{ o

=
2
N

101 1 10 0?
TP vertr (cr%)

[ fake+duplicates vs vert r

]

0.8

0.6

fake+duplicates vs. r

Ratio

M_original_originalvector_1000evt
M_original_1000evt
M_fitted4_T000evt
M_fit_nocpe_1000evt

|sjwlvle
olerele

0.0

9.009
[]
%.008
>
(8]
9,007
S
$.006
[&]
0.005
0.004
0.003
0.002
0.001

Ratio

................

................

................

10
1.2
1.1

-
-

10 20 30
TP vert z (cm)

-10 0

[ Efficiency vs. sim PV z |

N

0.0

>
20.009
5.008
$.007
>
_a_‘:j).oos
9.005
[J]
0.004
0.003
0.002
0.001

Ratio

10

1.

Hy

iy

o
&

I
Hio
o

15 20
.PVz(cm)

0.7

0.6

0.5

fake+duplicates vs. z

0.4

0.3

0.2

0.1

Ratio

-20 -10 0 10 20 30

track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

N 0.5
>

8045
0.4
£0.35

Sim

o o
oK o
N 01 W

o 9 Pk
= Ol

fake+duplicates rate

Sim. PV z (cm)



	Contents
	Page 1


